20

-

A cofis(









20












V<4 e A = ™= | 8 TGV — 1997 -~ #ol—< <
= 54,000 & 12,152



== TM-”

e oV

4 4

%o -
0

,_|QTM9

I < =1Ls

% d4=2%kMs

Ls

— 24 T™M= IJ_Iyi ¥

_|__

% L

Ls

s

— 23 TM=






20

A cofis(

11

)






13



<

20

o fi Wo= nkt fi Afi

L 5=

o fi Wos ~ 254™= | 8
02 —try!
° @Y F - = ™M= —

o o |k -

L4 {°85¢. 02

- A cofii(

© @Y F

02— —fi 1}’

- = [H

o b -

8 _N‘—)#

— % 3

14

i

-
Y8

4 4

r ~

A

—dl = ™
=

£ 8

~TME|

i e



JICA

D Afi =

15



20

16






20

c mmfl ) £ 0o =

- A cofi(

n o' :

d 5=

Ke OVe ) <t 4 —

15 <

L = g o o 35 =

18


http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon19_10.pdf
http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon18_05.pdf
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http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon21_01.pdf
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http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon19_10.pdf
http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon19_10.pdf
http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon18_05.pdf
http://www.jica.go.jp/environment/information/shinsakai/pdf/shimon/shimon18_05.pdf
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